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Q.P. Code: 11246

(Time: 2 % hours) SEF O
- [Marks: 60].
Please check whether you have got the right questlon paper R DRSCA A

(1) All questions are compulsory. . »
(2) Make suitable assumptions wherever necessary: and state the assumptlons made
(3) Answers to the same question must be wntten together ¢
(4) Numbers to the right indicate marks. & LV Nt
(5) Draw neat labeled diagrams wherever n ecessary
(6) Use of Non-programmable calculator is allowed
Attempt any two of the following: = = LS FE O FE DN 42

Write any two application that are beneﬂted from wweless networ
Communications. ey g A R e g
What is the purpose of Antennas? Explam'fdlfferent types of Antennas
Explain:  i. hidden and exposed terminals - ii. Near and far termmals
With neat diagram explain advanced phase shlft keymg

ﬂa’nd' mobile

Attempt any two of the followmg

g S 12
With suitable diagram explam the functlonal architecture of GSlVl ,
Why handover is requlred |n cellular system Wr|te four p055|ble scenarlos in GSM.
With neat diagram’ explaln the followmg terms : Vi
i. inclination angle . :
ii. elevation an' g5
iii. footprint
Looking .at- the« HLR/VLR database approach used in® GSM - how does this
archltecture hmlt the scalablllty in terms of users espeually moving users?
Attempt anzt o.of the followmg; St ] 12
With su;tab ‘fﬁexample explam th "cycllc repetmon of data in broadcast systems.
Explain the DAB frame structure. : ;
Explam the protocol archltecture of lEEE 802 11 protocol
- Write ashort note on HIPERLA’ AR
4 Attempt any tw. tw of the followmg , 12
‘Write: several reasons Wthh led 10 the development of WATM.
Explaln how packets are dehvered to and from the mobile node.
Explain the reglstratlon process of a mobile node via the foreign agent or directly
with'the home agent‘;\
Wnte a short note on moblle quality of service.
Attempt any tw of the followmg 12

How does |- TCP work? Write the disadvantages of I-TCP.

Explain the ‘workln‘g of snooping TCP. Write its advantages.
~ How little Work system works? Explain.

What‘are the various components of WAP? Write the purpose of each.




Q.P. Code: 50014
(Time: 2 hours) £ ' ~
: ’J[.Total Marks; 60,
() All questrons are compulsory.
(2) Make suitable assumptions wherever necessary-and state the assumptlons made
(3) Answers to the same question must be written together ' il
(4) Numbers to the right indicate marks. v 4

(5) Draw neat labeled diagrams wherever n ecessar_y
(6) Use of Non-programmable calculators is allowed.

1.  Attempt gny two of the following: -~ OB PR 12
Explain the following: PR SE et o ST & L S8
i) Equal cost load sharing < = ¢~
i) Non-equal load sharing .=« <
iii) ~ Recursive table lookup CAO Y »~
Explain the problem of 1nstab1hty in RIP How-is it overcome? : W gt
What is load balancing? What are the different types of 1oad balancmg9 ;
d.  Explain different functlons of EGP and EGP message types S

o o

. Attempt any two of the followmg 2 : P WS oy 12
a.  What are desrgnated routers’ and - backup des10nated routers? Explam the election
procedure of designated. and backup desrgnated router. Which type of networks support
and which type of networks do not support electron of desrgnated and backup designated
routers? Why? <" 5.5 t
b.  What are stubyy areas‘7 What are the features of stubby area” What are types of stubby
areas? .- Y
c..  Howisthe best OSPF route selec ed‘7 How are metrrc and SPF calculated? Explain.
Explam the concept of OSPF v1rtual link.

Attempt any tw of the followmg ' 12

What is 1P Server level agreement‘? Explam the’ concepts of IP service level agreement.
What are the two. classes of BGP nerghbours” Explain.

- Explain the BGP best path algorithm. < ‘

o Explam the concept of IPV tunneihng encapsulatron and decapsulation.

PG, TP W

Attempt any two of the followmg : 12
What is EtherchanneW What are the protocols involved in it? Explain.

b. ~ What is a summary routé? In the context of static routing, how are summary routes

‘ useful? Explam with suitable examples

c¢.  Discuss the use of route filtering in network design and different techniques to apply

: route ﬁltermg n varlous protocols.

d. ~ With the help on a neat diagram explain Metro-Ethernet Architecture.

o

*_Attempt' "n’y' - two of the following: 12
* Enumerate the benefits and drawbacks of Layer 3 access layer designs.

Discuss Hrgh avalldblhty and failover times in data centers.

Explam the SAN protocol stack.

Explain IPSec virtual private networks.
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Q. P. Code: 50019
(2 ¥ hrs)

Max Marks: 60
(1) All questions are compulsory.
(2) Make suitable assumptions wherever necessary and state the assumptions made.
(3) Answers to the same question must be written together.
(4) Numbers to the right indicate marks.
(5) Draw neat labeled diagrams wherever necessary.
(6) Use of Non-programmable calculators is allowed.

Answer any two of the following:

Why cloud computing demands high-throughput computing instead of high-
performance computing?

Explain how distributed systems emphasize high degree of parallelism.

lllustrate the architectures of the virtual machines (VM) configurations with a labeled
diagram.

What are the various types of losses incurred due to system attacks and network threats?

Answer any two of the following:

Discuss the various design issues in developing and using a cluster.

What are the advantages and disadvantages of Operating System(OS) Extensions in OS-
level virtualization? :

Enumerate on the design objectives for cloud computing.

Explain layered architectural development of the cloud platform with a labeled diagram.

Answer any two of the following:

Explain functional modules and applications of Google App Engine.

Discuss how data coloring technique is used to preserve data integrity and user privacy.
What is Hadoop? Explain how Hadoop implements MapReduce with HDFS.

[llustrate MapReduce functions with a word-count problem.

Answer any two of the following: -

With the help of diagram, explain the architecture of Google File System(GFS).
Explain the following;

1) Amazon Elastic Block Store;

iy Amazon SimpleDB service.

What are the three types of capabilities offered by Aneka to build, accelerate and manage
clouds and its applications?

Draw a labeled diagram of OpenNebula architecture and explain its main components.
Answer any two of the following:

Explain how system throughput and efficiency is evaluated for HPC and HTC systems.
What 1s Magellan? What are the varieties of research issues these systems address?
What is Twitter? With the help of a neat diagram, explain the architecture of Twitter and
access protocol sequence control.

List and explain the properties of social network graph.
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' Attempt any two of the followmg :
-y \Explaln drfferent dlrectory servrces '
‘Explam the Berkley algorlthm :
- Explaint the nng based algorlthm for mutual exclusion.
: Defme consensus problem What are the requirements of consensus algorithm?

Q.P.Code: 28800

(Time: 2 : hours)
2

-

f
L.

(1) All questions are compulsory.

(2) Make suitable assumptions wherever necessary and state the assumptlons made. ;

)

(3) Answers to the same question must be wrltten together &
(4) Numbers to the right indicate marks. SR
5) Draw neat labeled diagrams wherever.n ecessary 3

6) Use of Non- programmable calculators is. allowed

(
(

Attempt any two of the following: - : o o

Enumerate the highlights of compl : dlstnbuted system rnstallatrons

Write a short note on quality of servrce ine dlstrlbuted systems R ~
What are different types of models for developmg dlstributed systems? Explaln each
model in brief. ; PR A A 4

Explain the failure model of dlstrlbute\ system ln“detall

Attempt any two of the followmg , ST A
What is Network Address Translatlon? Explaln wrth an example
Explain the IEEE 802 15.1 bluetooth lreless personal area network
What is CORBA’s ‘common DatafRep ntation? Explain..

What is network vrrtuallzatlon' What are'overlay networks? What are advantages and
dlsadvantages of overlay net“ :

Attempt any t of the followmg Jf

What are the dn‘ferent styles ; 'xchange protocols? Explaln
Whatare publlsh subscrlbe syste' What are thelr applications? Explain with an
example : :

'Compare message passmg and dlstrl uted shared memory approaches.
] What is Serwce Orlented Archltecture? Ex‘plam

Attempt any tw o of the followmg

How are transactlons recovered in distributed systems? What are the tasks of
recovery manager. -

What are quorum consensus methods? Explain.
What are the issues to be dealt with in the design of discovery service? Explain.
Explain directed diffusion. :

[TotalMarkSGo
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(Time: 2 hours)

(1) All questions are compulsory.
(2) Make suitable assumptions wherever necessary.: a
(3) Answers to the same question must be written't:
(4) Numbers to the r _1_gL_ t indicate marks.

Attempt any two of the followmg
Explain the fundamental iss
Explain High level language to
What are different processor IC

: 12
* How. C/C++is usaful in embedded _
- level programming for émbe /ste
.. - Illustrate the use of Inﬂmt \example in embedded system design.
Explam the steps fo use a functlon in.an embedded program. Explain reentrant function.
' .Explam with example multlpie function calls in the main program.
3 ,‘-Attempt ang iwo of the foﬂawmg 12

-frameworks and alliances presents in the market?
;the function of each bit of Status register of PIC microcontroller.

: »,Dréw the block dlagram of AVR microcontroller and explain each unit.
‘,»‘:Exp]am‘ dlfferent processmg modes of ARM.
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Paper / Subject Code: 94615 / Information Technology:Data Mining -

(Time: 2 hours)

[Total Marks: 60]

(1) All questions are compulsory. ' Gt

(2) Make suitable assumptions wherever necessary and state the assumntlons made,

(3) Answers to the same question must be wrltten together s Ve

(4) Numbers to the right indicate marks. ATy \

(5) Draw neat labeled diagrams wherever necessag

(6) Use of Non-programmable calculator is allowed.

Attempt any two of the following: G N Y ol OE e 12

What is data mining? What are the bas1c data mlnmg models? Explam

Define mean, median and mode. Compute mean, median: and mode for (l 55 10,18;:20,
28, 32) v oy
Explain different categories of knowledge representatlon

What are Rough sets? Explam

Attempt any two of the following: - - £ CLTE TS A 12
What is noisy data? Explain the various data smoothmg techmque used to handle noise.
Discuss the various issues to consider during data integration.

State the relationship between: frequent patterns and association rules.

Suppose a group of 12 sales price records has been recorded as follows:

5,10, 11, 13,15,:35,:50, 55, 72,92, 204, 215:

Partition them into three bins by each of the following methods

i) equal- frequency “ii) equal-w1dth iii) clustermg

Attempt any two of the followmg 2 NN 12
Give comparison between supervised: learmng and unsuperv1sed learning.

Explain how support vector machmes helps in’ classification.

Whatis boost1ng‘7 State why it may improve the accuracy of decision tree induction.

Explam trammg Baye51an Bel1ef Network

Attempt anyiwo of the followmg 12
Write an algorithm for k-medoids partltlonmg algorithm.

Explain Divisive hierarchical ¢lustering method.

State the relationship of binary variable with nominal variable.

Describe the following approaches to clustering: density-based methods and model-
based methods. Give examples for each.

Attempt any two of the following: 12
What is Graph mining? Explain the Apriori-based approach algorithm.

Write a short note on text mining.

What is Informatlon Retrieval? How can one assess the accuracy and correctness of the
system? »

State differences between Multimedia and Spatial data mining.
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Paper / Subject Code: 92115 / Information Technology : Paper | -

(Time: 2 E hours)

Please check whether you have got the right questlon pap’

N. B.: (1) All questions are compulsory.
(2) Make suitable assumptions wherever necessary.

Q.P. Code: 50012

(3) Answers to the same question must be writt
(4) Numbers to the right indicate marks. 2
(5) Draw neat labeled diagrams wherever necessa!y_
(6) Use of Non-programmable calculator is; y

Attempt any two of the following: .
Explain advanced phase shift keying;
DISCU.SS any two apphcatlons Where

aeoe =

o
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pL 2 Paper / Subject Code: 94641/ Information Technology: Distributed Systems / R
VS ; ‘ |

(22 Hours) g j‘];y‘:j[TOtal Mﬁrks: 6:0]'/" ‘

N. B.: (1) All questions are compulsory. »
(2) Make suitable assumptions wherever necessary and state the assumptlons made

(3) Answers to the same question must be written together.
(4) Numbers to the right indicate marks.

(5) Draw neat labeled diagrams wherever necessary.

(6) Use of Non-programmable calculators is allowed.

1.  Attempt any two of the following: ' s 12
a.  Define Distributed system and state the dlfferent type of apphcatlon domams in.
distributed systems.

Write a short note on resource sharing i in dlsn ibuted systems

Explain the failure model and security model of distributed systems.

Write a short note on Archltectural Model and Interactlon Model of distributed
systems. : > :

oo o

Attempt any two of the followmg .95 PO K : 12
What is Network Address Translation? Explam thh an example Sle g .

What is mobile IP? How does Mobile routing take place? Explain in detail.

What is network virtualization? What are overlay networks? What are advantages

and disadvantages of overlay networks?"

What is marshallan‘? Define object senahzaflon How does J ava serlahze objects?

O T e N

(=N

Attempt any two of the followmg VI ' 12
Explain the request reply protocol along with its operatlons and message structure.

What is Remote Procedure Call? Discuss the design issues for RPC.

What are pubhsh subscrlbe systems? Explaln the characteristics of publish

subscribe systems. :

d.  Explain Web Servxce Deserlptlon Lan guaoe Request and Reply messages.

oo w

4 Attempt any two of the. followmg & 12
a. . Explain the terms:
- i) Clocks i) Clock Skew: 111) Clock ant 1v) Co-ordinated Universal Time

b: Explaln Christian’s method for synchromzlng clocks.

¢.  Explain FIFO ordering of multlcast messages.

d. ~ Write and explam the alﬂorlthm for consensus in synchronous system.

5. Attempt any two of the folloWing 12
a. Explam two-phase commit protocol for nested transactions.

b.  What is distributed deadlock? Explain with example.

¢. - Explain the passive rephcatlon model and the active replication model for fault

tolerance. -
d. = What is location sensing? Discuss different location sensing technologies.

62343 e Page 1 of 1
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] Paper / Subject Code: 94856 / Information Tech.: Information Security Ma;'ria\ge\m

, (Attempt anz 1wo of the‘:followmg
~Write the phases of: a dlsaster:reCOVery plan..:
. Explain the various backup and recovery technlques for applications.
 Explain-the system -level, appl atlon level and user audit trails.
: .\'erte the prmcxpies of Audltmg

Attempt g iwo o of the follo ng
- “Write a note on forensw toolkit,

(2% Hours)

(2) Make suitable assumptions wherever necessary and state the assumptlons
(3) Answers to the same question must be wrltten togethe :
(4) Numbers to the right indicate marks. :
(5) Draw neat labeled diagrams wherever ‘necessary.
(6) Use of Non-programmable calculator is allowed :

Attempt any two of the following: = b, 12
Explain the risk management hlerarchy WIth neat diagram < g ,
Explain proactive approach to risk- management Wnte beneﬁts over reactlve approach
Write a short note on OCTAVE. ¢ : v

Explain any two risk models*

Attempt any two of the: followmg 12

Write VaI'lOUS policies: based’ n '.pretocols »

Explain the followmg ﬁrewall technologles &
i. Packet Filtering - ii: Stateful inspection.-
Explain the anomaly—based detectlon methodology

Attempt anz two of the followmg

Write the ehallenges inlog management
List and explam various. forms of maiware
Write anote on sandboxmg &
Explam the two bas1c ata structures used 1 PKIs, ‘

12

12

12

Explain the two techmques used to copy files from media.
With neat diagram: explam the forensic process.

2 What is the functlonahty of NMAP tool?

62356 Page 1 of 1
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Attempt anz two of b, he follo n

Attempt any. two of ]

Paper / Subject Code: 94693 / Information Technology: Software TeSti‘ng'”

(Time: 2% hours)

(2) Make suitable assumptions wherever necessary and state the assumptlons made
(3) Answers to the same question must be wrltten together S N

(4) Numbers to the right indicate marks. : : SO A A
(5) Draw neat labeled diagrams Wherever necessagv_

Attempt any two of the following:
What is fundamental test process? Di
How to evaluate Exit Criteria. Discu\svs i
What are safety-critical systemé“’

What is test estimation? St :
mﬂuence cost effort and dura‘non

Explain failure. mode and effec .;analysr

Attempt ¢ nz two-of the followmgg} ;
What is‘dynamic analy51s‘> Discuss the-benefits and “mltatlons of dynamic analysis.
What are software: attacks'? Explaln with’ exampl
Explain the terms memory léak detec o, W
What are the d1fferent types of spe01f ation

nters-and call graph.
edtesting techniques? Explain each in detail.

Define the terms n
Describe 1nc1dent‘:

 following:
What are the risks. assocrated w1th the introduction of automated testing tool in an organization?

- What are the dlfferent autornatlon architectures?

Explamkey werd driven architecture.
How: can-performance testing be automated? Explain with examples.

62350 Page 1 of 1
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Paper / Subject Code: 94976 / Information Tech.: Ethical Hacking ¢

N

(2% Hours) © [Total Marks: 60

(1) All questions are compulsory. ; ; oo
(2) Make suitable assumptions wherever necessary and state the assumptlons made

(3) Answers to the same question must be written together,
(4) Numbers to the right indicate marks. <
(5) Draw neat labeled diagrams wherever necessagz

(6) Use of Non-programmable calculator is all()Wed

Attempt any two of the following: B N e i ORI ;.‘ SRR S )
Discuss the motives, goal and objectives of‘mformatlon securlty attack DK e N
What is vulnerability scanning? What can it detect? What is. the beneﬁt of drawmg
network diagrams? ! ;
Compare hacking and ethical hackm g* What are. the effects of hackmg on busmess‘7
Discuss the different IPV6 securlty threats~ St e . R

Attempt any two of the followmg N S e e 5 D 17
Explain the Kerberos authentication process ‘ e : :
What is steganography?- How: does:it work? :
Explain the Infection phase and Attack phase in vvorkm0 of viruses.
hat are the ccuntermeasures agamsf dlfferent types of ke},lo ggers" 3

Attempt any two of the followmo S 12
What is DHCP starvation attack" Wha s‘rogu l HCPatt ck? How can we defend
against these attacks7 e : \ Y

What is Social - Engmeermg‘7 What type of beha ours can be vulnerable to social
engineering attacks? W vz

What is ‘a ‘botnet? What,; 1S the purp : ff ‘botnet‘7 Explam the botnet propagation
technique. ' s

Explain the dxfferent techmques of demal of serv1ce attacks What are the symptoms of
denial of service attacks‘7 TR

Attempt any two of the follow ing: s 12
How: security mlsconﬁguratlon can. make' web applications vulnerable? Explain with
examples. :

Explainthe web apphcatlon \ y stack

How can SQL.- injection for the following: Transfer database to attacker’s
machine, - Interact w1th the opera ing system, Interact with the file system, Network
reconnaissance: 3

What are the dlfferent authentlcatlon attacks that can be launched on wireless networks?
Attempt any two of the followmg 17

What are dlfferent types of firewalls? Explain in detail.
What is intrusion detection system? How does it work?

~What is buffer overflow? Explain with example.

Whatis cryptography? Why is it used? What are the objectives of cryptography? Explain
the cryptography process.

Page 1 of 1



Paper / Subject Code: 92193 / Information Technology : Paper IV - Advanced Database ManaementSystem%
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N. B.: (1) All questions are compulsory.
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e Deﬁne XML Explal_n

(Time: 2% hours)

(2) Make suitable assumptlons wherever necessary and

4) Numbers to the right indicate marks. -
(5) Draw neat labeled diagrams wherev

Explain the concept of Hi
Explain the concept of W,

ct 1o OODBMS

Attempt_n_Mvg of the fol oY fos
Explam the coneept of user-defi
Exp]am th" Nested Re]a‘u‘

: 'ecture with respect to dlstrlbuted databases.
Control based on voting.

: XML is different from HTML
Explain in: detall the concept of Deductive Databases

g Expl g,‘the ’egn‘cep of: Temporal Databases.

12

12

12

12

12
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(Time: 2 % hours)

Please check whether you have got the right questlon
(1) All quest|ons arec ompulsom

4) Numbers to the right mdlcate marks.

(
(5) Draw neat labeled diagrams whereve
(

models in cloud computmg
Explain the Parallel and Dist

12

12

12

12




